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PART ONE: MATLAB

Problem #1-1: (20 pts)
Letxbea vector of values : 0<x<1 with a step 0f 0.1
Let yl=5x’+2 for every value of x
and y2=20x-5 for every value of x
create a matlab program that :
1. definesx, yl,y2
2. plots the two functions
3. displays for how many values of x is y1>y2 and for how many values of x is
y2>yl
4. then gives the interval of x where the two curves intersect.
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Problem #1-2: (20 pts)
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create a matlab program that: d\‘sP ( X)

=N gt et

asks you to enter a value, X olis P k}’
then asks you to enter a second value, Y

dip (SThe )

multiplies X*Y, puts the result in a variable, STAR
then asks you to enter Y again,

then multiplies STAR *Y

the program repeats steps 4 and 5 until the resulting product exceeds 10000

at the end, displays the statement: “the values of X, Y and STAR are: ” then

displays the value of X, all the values of Y, and the value of STAR. 7
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Problem #1-3: (10 pts)

Write a Matlab function, call it Life. The function calculates the following
L=TH+2*E+AS

I=E*A*T

F=A+R+T

E=H/E*A/T

The function has all variables to the left as outputs and all variables to the right as inputs.
Explain what happens to the variable E in this case.




PART TWO : EXCEL

Problem #2-1: (12 pt)

Consider the following excel sheet: 34%
the numeric result in the cell B15is: __=——o~ ~
2. the numeric result if the function in B15 is copied to
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Problem #2-2: ( 20 pt)

1. Write excel functions that would give the range (interval of values), the mean and
the standard deviation of the data above. Use as many cells as you find necessary.
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2. Fill in necessary cells needed in order to draw the histogram of the data. A -
histogram is required with 5 intervals of equal width starting from minimum to

maximum values.
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Problem #2-3: (10 pt)
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1. How was this information sorted?
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2. What was done to the above data so that it appears as follows?
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Problem #2-4: (8 pt)
Which one of the following is plotted below? Why?

1. Y=xM2+5
| Y=exp(x)+3
. Y=log(x)-5

4. Y=cos(x)"2
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